Skogs BK
Partavling Anmalan 2021-09-09

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poang % Namn MID Klubb

1 10 147 68.06  Mikael Melander - Per-Arne Lindstrom 13137 3485 Skogs BK

2 9 135 62.50 Jerry Mahler - Ann Lidfors 12554 13773  Sollefted BK

3 2 129 59.72  Bo Gullefors - Staffan Strindlund 36345 3486 Sollefted BK - Skogs BK

4 3 125 57.87  Asa Wallin - Hans Olofsson 84926 20860 Skogs BK

5 1 112 51.85  Nils-Erik Ostman - UIf Eriksson 12388 14071  Skogs BK

6 4 97 4491  Harry Lundin - Jarl Lofstrand 8275 37156  Skogs BK

6 8 97 4491  Krister Sjoberg - Christina Stromberg 58179 58178  Skogs BK

8 7 91 42.13  Torsten Victorin - Birgitta Edvall 57031 57030  Sollefted BK

9 6 90 41.67  Roland Eriksson - Jan-Uno Norlén 86772 65492  Skogs BK

10 5 57 26.39  Anita Eriksson - Bernt Eriksson 65483 65485  Skogs BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
10 1 44 S= v7 420 80 00| 98 64N+1 +3 1390 80 00| 10 1 3a4V-2 *7 200 8.0 0.0

9 8 24 S+2 *A 170 6.0 20( 10 1 5#N+1 v] 620 6.0 20| 46 1laV-l *7 100 40 4.0

46 44 S-1 *7 50 4.0 40| 46 5v0-2 *Q 100 30 50| 52 264V-1 3 100 40 4.0

52 34S-2 *7 -100 2.0 60| 7 3 5v0-2 + K 100 30 50 98 2s4V-1 v9 100 40 4.0

73 3%0= vA -110 0.0 80| 5 2 44DS-4 vA -1100 0.0 80| 7 3 la V= *7 -80 0.0 8.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

6 3 46 02 oT 200 80 00| 19 4v0-1 +5 50 80 00 19 INV-1 *A 100 6.0 2.0
10 2 2v S+2 *4 170 6.0 20| 8 4 2v V+3 a4 200 6.0 20| 8 4 INV-1 *A 100 6.0 2.0

57 3#V= a5 -110 4.0 40| 57 4v V+l *4 -450 2.0 6.0 10 2 INV-1 *4 100 6.0 2.0

19 3&«V+1 vA -130 2.0 6.0 6 3 4v V+l 3 -450 2.0 6.0| 6 3 1¢ O= a5 -70 2.0 6.0

8 4 4v S-2 s A -200 0.0 80| 10 2 4v V+1 43 -450 2.0 60| 57 INV= *A -90 0.0 8.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

21 34DV-1 *A 200 80 00| 21 3NN+2 46 460 6.0 20 95 24S= v5 90 8.0 0.0

6 8 44 N= ¢ A 130 50 3.0 7 4 3NN+2 48 460 6.0 20| 6 8 34S-2 s A -100 5.0 3.0

95 24 N+2 4] 130 50 3.0( 10 3 3NN+2 +J 460 6.0 20|10 3 3#S-2 s A -100 5.0 3.0

7 4 3¢ O+1 &T -130 1.0 70| 6 8 3NN+1 48 430 10 70| 7 4 2v V= &T -110 2.0 6.0
10 3 44 O= &T -130 1.0 7.0 95 3NN+1 +J 430 10 70| 21 3NDS-4 v2 -800 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

32 4vS-1 43 -100 8.0 00| 16 44 V-2 *T 100 80 00| 16 3vV-2 v2 100 7.0 1.0

16 340= +9 -140 5.0 3.0 85 264 V= *T -110 6.0 2.0 10 4 4v V-2 &K 100 7.0 1.0

8 5 24 O+1 +8 -140 5.0 3.0 10 4 44 N-3 aT -150 4.0 40| 85 1v O+1 +3 -110 4.0 4.0

79 3¢ N-2 *3 200 2.0 6.0 3 2 3aV+2 *T 200 1.0 70| 3 2 3NO= v6 -400 2.0 6.0
10 4 44DO+1 ¢9 990 0.0 80| 7 9 24 V+3 *T 200 1.0 70| 7 9 4v V= v2 -420 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

27 3vS= + K 140 80 00| 10 5 24 S+2 vA 170 80 00| 96 3vS+2 «8 200 8.0 0.0

4 3 29y N= *T 110 6.0 20| 8 1 1a4 S+2 &K 140 6.0 20( 10 5 24 N+1 vK 140 6.0 2.0
10 5 Pass 40 40| 96 3&V-2 a2 100 40 40| 27 3#0+= vA -110 3.0 5.0

81 3#S-1 v] -100 2.0 60| 27 2vN-1 48 50 20 60| 81 240+1 vA -110 3.0 5.0

96 3vS-2 *A -2000 0.0 80| 4 3 INV+1 vK -120 0.0 80| 4 3 3NO= vA -400 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
10 6 3NDO -2 vJ] 500 80 00| 92 24N= *4 110 80 00| 3 8 3NS= *7 600 8.0 0.0

17 2v N+1 a2 140 40 40| 17 34 N-1 +3 -50 3.0 50| 10 6 34DV-3 vJ 500 6.0 2.0

38 2vN+1 vA 140 40 40| 3 8 44 N-1 vA 50 3.0 50| 54 2¢vS-1 +*J -100 3.0 5.0

92 2vN+1 48 140 40 40| 54 34N-1 *4 -50 3.0 50 92 INN-1 +8 -100 3.0 5.0

54 2vN= 48 110 0.0 80| 10 6 3NN-1 v2 -50 3.0 50 1 7 3NN-3 +8 -300 0.0 8.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

6 5 24 S-2 vA -100 8.0 00| 6 5 44 V+2 v2 -680 8.0 00| 13 440-1 v8 50 8.0 0.0
10 7 3¢ V+1 +J -130 6.0 20| 10 7 64 V= v9 -1430 6.0 20| 2 8 44 O= v8 -420 4.0 4.0

2 8 3v N-3 +3 -150 4.0 40| 1 3 64 V+1 .7 -1460 3.0 50| 65 44 O= v5 -420 4.0 4.0

49 3NV= *4 -600 2.0 60| 2 8 64 V+1 v9 -1460 3.0 50| 10 7 44 O= v8 -420 4.0 4.0

13 3NO+1 v7 -630 0.0 80| 49 7aV= v9 -2210 0.0 80| 4 9 3NO+2 +6 -460 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

2 4 3NS+1 *4 430 7.0 10| 10 8 2v O +3 *T 200 8.0 00| 24 4¢V-3 a4 150 8.0 0.0
10 8 3NN +1 *5 430 70 10| 76 4v 0= +5 -620 6.0 2.0 10 8 3# N+1 + K 130 6.0 2.0

39 4v S= a7 420 30 50| 24 4v0+1 *7 -650 2.0 6.0 7 6 3NV-2 &T 100 40 4.0

76 4v S= Ly 420 30 50| 39 4eV+l + K -650 2.0 60| 3 9 3¢ V-1 *A 50 20 6.0

51 2NN= +3 120 00 80| 51 44 0+1 *7 -650 2.0 60| 51 2¢ V= *9 -90 0.0 8.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

87 3NO-3 +Q 300 80 00| 35 INO+1 +J -120 8.0 0.0| 10 9 4vDV-3 *A 500 8.0 0.0

35 INV= s A 90 6.0 20| 41 INV+3 a2 -180 6.0 20| 4 1 2¢ S+l v4 110 5.0 3.0
10 9 34 N-2 v4 -100 4.0 40| 10 9 2¢DS-2 *A -500 4.0 40| 8 7 3#S= +5 110 5.0 3.0

41 3¢ O+1 a7 -130 2.0 60| 87 3NO= +J -600 2.0 6.0 35 3NN-1 a5 -50 2.0 6.0

6 2 3NV+1 &9 -630 0.0 80| 6 2 3NO+1 +9 -630 0.0 80| 6 2 2NN-2 a5 -100 0.0 8.0
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